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KK NAGAR SALAM '
STD : X1l ‘ MARKb : 50
DATE : 17.10.19 ONE MARK TEST — VOL -1 ‘ TIME : 30 ml{l.
L CHOOSE THE CORRECT ANSWER : 50X 1= 50
3 5 lad)B| _ o
1. If A= [l 2] B =adj A and C = 3A, then —— il ‘ :
i < 2 41 -
s 2)5 37 ) |
25 It A= i: J Then 9L - A= _ \
A" . L : 3)3A" C 424"
A -, _fcos@ sin@ 0 ,___
3, HA--[_SmB C()SHJandA(ad,A) [ IJ,thenl\ |
1)0 - 2) Sing . 3)cosf 41
coa b, m _c d=_n 7 m _fa b . :
4. Iy =c™, x°y4™e", A, = ,7: Z Az = t 71, , A= ,c al’ then the va]_ue of x and y are
respectively, '
1) e(82/81) : e(83/4y) , i 2) log(A,/A3), logA, /A3

3) log(A,/A,) ,log Az /A, 4) e(Al/Aa)’ e(81/83)
5 2 .

S If A A is symemetic, then A =

A BATE . 3) AT @Ay
0. If p(A)= p([A|B]), then the system AX =B of hnear equation is ’
1) Consistent and has a unique solution , - 2) Consistent
3) Consistent and has infinitely many solution _ -, 4) Inconsisitent
2 -1 1 3 1 -1 : 3 ' ‘
7. LetA=|-1 2 —1}andd43= .3 x | IfBis the inverse of A , then the value of x is
B e —1 13 . ;
1 2 3 4 \ ' '
8. The rank oi matrix | 2 4 6. 8 l is
-1 =2 =3 -4 ' ' :
1)1 Nnal (< ol 34 4)3
9, The conjuga[e ora com'\lex' nuraber is l_;_ Then, the complex nuimber is
J20 7y —L s A i)
) i+2 Dy i12 3) i-2 Vi
0. If|z— —| -2, then the least value of |z is N
1 2)2 3)3 4)5
1. 2,2, and z5 are complex numbers such that zl+zz+z3 -0 and |z;| =|2;| = |z3]| = 1 then z,* + z,?
+z3° is
1)3 . 2)2 31 4)0
12. [hc solution of the equation Izl —z=1+2iis ‘
-2 7)--—+21 32— g 4)2+§i
3. I L is a non zero complex numb:—.r such that 2iz? =7 lhen |z| is
n; 2)1 N2 43
14, ’l‘hc, principal argument of (sin 40 + i cos40)° is
1) —110° 2) —-70° 3)70° ; 4) 110°
- T L A 141v3)° . :
15. The principal argument of the complex number ‘fl(l-i\/)i) is
1 "_’r P L3 sr o
) | I )= s 43
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3
16.  The product of all four values of (cosZ + isinE i
B g 3

1)-2 2= 3) 1 ' 4)2
17.  If (1 +) (1+2i)(143i).. (]-rm) =X + 1y, then2.5. 1() (14n?) is
D1 2)i L)y )1 +n?
z+1 w?
18. Ifw= cts— then the number of distinct roots ofl 0  Z+w? 1 | =0
v w? 1 ztw-
1 2)2 33 T a4
19.  Iffand g are polynomials of degrees m and n respectively, and if h(x) = (f o g) (x), then the
degree ofh is .
1) mn 2)m+n Hm" 4)n™

20. Accordmg to the rational root theorem, which number is not possible rational zero of
4x+2x* = 10x°-5? : = s

Bie<i AE . E0 B 3)- 4)5
21O\ IfE ﬂand y are the zeros of X3 + px* + qx+ 1, then Z— is
_4a -2 1 ’ =9
1y -4 2)-2 A 4) -2
22, A zero of x> + 64 is
)0 2)4 _ 34 4) —4
23, A polynomial equation in x of degree n always has ' :
1) n distinct roots ~ 2) n real roots 3) n imaginary roots  4) at most one root. -
24. The number of real numbers in [0,27] satisfying sin® x —2sin® x +1 is
1)2 2)4 3)1 ' 4)

25.  The polynomial x3 +2x + 3 has .
1) cne negative and two imaginary zeros, . 2) one positive and two imaginary zeros

3) three real zeros 4) no zeros
20.  The polynomial x'—Joy” + S hes three real zarcs if and only if, k satisfes
k(<6 2)k=0 3) k] > ¢ k|6
27, Ifsin'x+sin'y= 2?" tien cos”x + cos™ y is equal to
' D= )% 3% 4
28. Ifcot™'2 and coit™ 3 aic two augles of a iriangle, thea the third angle is
ne 2= SN 2 43
29. Ifcot™!(Vsina) + tan~!(Vsina) = u, then cos 2u is equal to
I)tan"'a 2)0 , 3)-1 4) tan 2a
30. 1Ifsin"lx+ cot™ (1) = E ,then x is equal to
3 By Nz 92
31, sm (2 cos? ‘(—l)+cos (]—251n X)=
AL 2)< . B ..o e
32, Thc value ofsm“(cosx) O<x<mis
Hr—m ‘ ax—; ﬂg—x x—1
33, The equation tan” x — cot” x = tan’ (%) has
1) no solution : : 2) Unique solution
3) tow solutions K 4) infinite number of soluuons
34. Iflhe function f(x) = sin” (x* - 3) then x belongs to )
DL HIVZ, 2 _,)[-z-\@u[\/‘z}t)[-
35.  The circle X™+y” = 4x + 8y +5Intersects the liné 3x —4y = m at two distinct pomts Jf

1)15<m<65 2)35<m <85 3) -85 <m<-35 4)-35<m<15
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- o " e %) ..2”)'2 )
Ihe cecentricity of the ellipse (x = 3)" + (y~4) e

vi 2 L kY
B v A5 3) " 4) 7
‘The locus of a point whose distance from (=2,0) is -i- times its distance from the line x = - s
1) a purabola 2) a hyperbola 3) an ellipse 4) acircle
- ! 3 9 G 22 oy 4 %P oy
I'he arca of F|llil(|l ilateral formed with foci of the hyperbolas = 45> = | and a—zl+ e
)4 (a® 1 b)) 2)2 (a®+b?) 3) a’ +b? 4)Z(a+b)

The centre of the cirele inseribed in a square formed by the lines x* —8x — 12= 0 and

y' =ldy 4 d5 <0 s

1) (4,7) ] 2) (7,4) ©3)(9,4) 4) (4,9)

The length of the diameter of the circle which touches the x-axis-at the point(1,0) and passes through
the point (2, 3)

OF 2)% ok 42

1% by = K is a normal to the |'mr;dnholu y* = 12x, then the value of k is

1)3 2y -1 ‘ 3)1 4)9

[ P(x,y) be any point on16 x*+25y* = 400 with foci F1(3,0) and F5(=3,0) then PF) + PF, is
18 ' 2)6 3) 10 4) 12
Ifd.b=hi=2dd =(), then the value of [, €, 5] is

1) ld] 5] 1| 2):1dl [B] || 31 4)-1

The volume of the parallelepiped with its edges represented by the vectors i+ j,1+2j,1+] +nk
is
lig 92 3y 4z
e\ =7 g e s SIPHE ¥ =
ild,c, b are non-coplanar vectors such that d % (bx ¢ )= Tc then the angle be.weend and b is
" . 3q .4
- . ') —_— 3y = 4 i
1) 5 2)7 ' J)_4 . hn
b /E)ﬂ; R(DB) | 2(dxb) .
(¢xddb  {(arxn)d  (éx&d
1)1 2) -1 3)2 ¢)
If d, &, i are non-cc planar, nen-zzro vectors such tiat [@, 7, b]=3 thar {{d s b.
is cqual to

If(d, ¢, k=1, then the value of

3
b

1) 8l 2)9 3)27 4)18
I the dircetion cosines of a line are %, %%, then
e=+3 2)e=1V3 3)c>0 4)0<c<1

If the length of the perpendicular from the origin to the plane 2x+3y+ 2z=1, 1 > 0 is é, then the

value of Ais

1)2v3 2) 32 3)0 401

The vector equation 7=(I — 2f —k) + (61 + j — k) represents a straight line passing through
the points

1) (0,6, 1) and (3, =2, ~1) 2) (0,6, —1) and (—I, —4,-2)

3H(1,-2,-1) and (-1,4,-2) 4) (1,-2,—-1) and (0, —6,1)

[ HARD WORK NEVER FAILS EVERYWHERE**
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